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EX.3 The 'H? o5 a +un'mj forle ...
£ = YUpose. = 280 cucles = g20 W2
0.5 sec sec
-,) 3
= arnf =27r(8805 ) =|5.83x10 rzd_/s
T= 41 = _1 = a4 xi0 s
f sos
Ex. 9 When an ob_‘.,ec)' of unknown mzss is attached to 20 idezl
SPriNG + 0. .
F - — -
K =120 N/m a) T=" T=7¢ =0
¥ = G.o0 Hz T = 0.16L6 sec.
L.) w= anf = an (e.0s”) => |w=3TF caifs
¢) m=? w'=k  m=k = 120 Nm _ =[0.0844 kg
m w® (313 radk)
Ex. I An ob|ec‘)' 15 underaomq SHM  with & peried of ©,900 sec,
ancl amo) $ude of o. 320 m.
X; ©.320m @ 'l':-0.0 Vy =000 m/s
2) | X, Toc.lom @ ‘c.;- 7 X= A cos (wt) W =27 = 2%
w - 27-‘- ©.,320 T OAQODS
3
= Xa'—'A/cos(w(o)) = 2=
Ol = X; =,A/C05 (w t) COS(w‘E)
/3
i F e e\
C03<49T>= z wt =Cos [ \ t=_1 COS’(_'/J-,)
w

1= / S L =0.150 s

's
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b) At Lo

X=0.160m — X =0,60m.

, t)' = T_/é

-T/4

One czn arque that by symmedry

the +ime t= T./'-} when

J
‘H’)e oh\ec')' Crosses ‘H\e ory

S\n (X.c =0, OOm)

- I

—
—

At=1,-t; =

om—

2T

o~

0.960 s

C.O0F50 s

-
4 ¢

24

= 3
4 12

Ex, 22

am?‘fmde A,

A Rarmonic oscillztor has aggvﬂkr &rgggcy w and

?fné X and Vy

Jhen K=U,

— They only ask for the maanituie

Ve = iz

—> T"tﬁ)l on)\f ack

Lfor the manm‘hade

A ProuA c\eep -sea {isherman hams 2 6£5.0- kq $ish from

an lc\eai SPrmq having neahalb)e mazxss .

-
=

X ©. 180 m

k= m9q :/65) (a.8)

F= ko
J

mq k x
J

X o.ep

—
—

K

—
—

3,84

3539 NJ/m

3
X10 N/m
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Ex. 34 Cont'd (_b.> T=2 (,u=\/_g AW -k
‘ m T )
i
T = 27[.) M = 77.065.0kq = 0,851 sec
| k \3539 N/,
) Vinmy =Aw = (0,050m) [ 2w\ =| 0,369 mjs
o o "27r/.r 85]5/
Ex.H¢ | A pendulym on Mars, A cerfzin Sl'mp\e Penéu\um has a
J|>erioc\ orn earth of 1.40 s, - T
Tome =7 i T =teos  w= = \%
-/
T = 290 )= Tmars, = 27 \_ /:Tmrs = \) Jearth
bt Tea,r'HA 27 /3?2&” \{ 3mat—s.
_r;h;rs = -rgzvﬂ! r&r'ﬁl = 1.0 SGC., 9.80 1;,.-5 = 2.60 S
\ Imac s \ 3.F1
Ex. 50 We wazant o hzana 2z thin hoob on z horizentz) nai] and
have the heep make one Comp)e'!'e 5ma”—anq)e oscilzhieon ..,
T=-2.0s I=MR*+MR> =2MR" w =, mq R "ﬁf:’
Para el i =R
CU'Q, Axis_Theorevn I 5
27T — ‘M@X/ — 3 = "1)7'[2 = 3_ R'*‘ jT;
T \o2mrR® 2R T 2R &
R = (q 8M}$)(3.¢05§ = 0,49¢ m R=0.,49L m
am*
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Ex.5% An unhaFn 03 oo-kj roc\en']',. movina on the end of 2
S\?rinﬁ: with z force constant k = 2.50 NJm 15 acted on
b\ll a dampinj force Fy = ~bv,
; / - ) 2 ' /
a) b=o0.200 kq/s £=" w=,]k -b = a2nt
m Y
) 2 4 ]
f= 1V Jaso — (ca0) -o0:35 £'=0.393 Hz

27\‘* \ 0.300 4 (0.300)2

b=7 for the motion 4o be critically damped

b= 2J km s 2\)(2,50 N/m>(o.300!«.3) = 133 g /s

b=1.%3 )‘ﬂ/.ﬁ




